addazyi
Quant Mega Quiz for SSC CGL Tier-II (Solutions)

$1. Ans.(d)

Sol.
ATQ,

= 3cosec’d = 21 - 3 cot®B
= 3(cosec’d + cot®@) = 21

= cosec’8 + cot®8 =7 (i)
And,
Cosec’® - cot’B =1 (1)

Adding (i) &amp; (ii) we get
2cosec™d = 8
= cosec 8 = 4

= cosech =2 =0 =30°

- sin20 = sin60° = =

a5
&

S$2. Ans.(d)
Sol.
[tan(2x- 2v]]
(sin 4x - sin 4y)
. (dx T4 4x—4
2an (S5 con (B8 ~ )

2 cos [4X -,L_ 41,,) sin (#) cos(2x - 2y)

(sin 4x + sin 4y)

sin(2x + 2
ﬁ = tan(2x + 2y)
$3. Ans.(d)

Sol. We know,

If (A+B)=90°
= SinA SecB=1
Now,

(sin41°. Sec49°). (sin42°. Sec48°)(sin43°. Sec47°). (sin44°. Sec46°)Cos45° =1/v/2

S4. Ans.(c)
Sol.

32cos®x-48cos*x + 18cos®x -1
4 sin x cos xsin(60-x) cos(60-x) sin(60 + x) cos(60 + x)
As we know [ sinx. sin(60-x). sin(60 + x) = % X sin3x and cosx.cos(60-x).cos(60 +

x) = %cos 3x]

1 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.bankersadda.com/
http://www.sscadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.careerpower.in/
http://www.adda247.com/
http://www.adda247.com/

- 2(16cos®x-24cos*x + 9cos” x) -1

1 . 1
4 % EX 51n3x><1c053x

- 2[(4cos®x)*2-(3c0sx)"2 — 2% 4 X 3cos” x X cosx)] — 1

1 . 1
2% Esm 3x Ecos 3x
2[(4 cos® x) - (3cosx)]*] — 1
=

%sin 6x

8 X [2 X cos®3x — 1]

=
sin 6x
8 cos 6x
sin 6x

= Bcotox
S5. Ans.(a)
Sol.
ATQ,
Sinf - cosB =0
Put 8 = 45°

Sin45° - cos45° =10
= ———=20 (s=atisfies
A ( )
Sin (B+15%)
Sin (B—157)
sin60°  +/3/2 5
== = == \I
Sin 30° 1/2

~Putf=45%in

$6. Ans.(c)
Sol.

2 cot ((TI_Q—A))

[1 + tan? (@) ]

2 cot(srn —%)

|1+ tan? (180 - %)]

2 tan% ) A
= L =s8In2 X —-=sinA
l—tan‘E 2

S$7. Ans.(c)

Sol.
Puta= 45"

= /(Cosec45° + sin45°) (Sec45® + cos45°) (tan45°® + cot45%)

=\J(~E+%)(»E+%) (1+1)

v

Z‘J(2E1)(2:§1)(2) 5

&~

£
PREMIUMPLUS -

SUBSCRIBE ® PRACTICE @ SUCCEED

SSC

12 Months Subscription

->

2 | www.bankersadda.com www.sscadda.com

www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/2954/SSC-Premium-Plus-Subscription-12-Months?utm_source=Adda247&utm_medium=product_link&utm_campaign=Premium_Subscription

$8. Ans.(c)
Sol.

given

tan 8 + secB = :;: (1)

"

Aswe know sec’B-tan’B =1
So,
(secB + tan0)(secf-tanb) = 1

So, put value from eq (i)
secB-tanf = % (i)

Add eqn. (i) & (ii)
(x+2)*+ (x-2)*

2sgech = >
x° -4
2(x*+ 4
2sech = (x,, +4)
x-—4

x2-4

cosf =
xt+4

S9. Ans.(a)

Sol.

ATQ,

. 6
= Sll‘l[B +3[}a] = 7as = axaxds 2
W 2 W 2

= sin(B + 30°%) = sin60°
~ B =30°

~ (tan30)* = (i_)z = g

$10. Ans.(b)
Sol.
cos 40° —cos 140°
5in 80% + sin 20°
9 sin (4{! 4—2140) sin (40—214(]@
g _
2 sin (80 ;I,_ = cos (80 5 20)
-25in90 x-sin 50 1 2
= J—
V3

2s5in50 X cos 30 »,—-"E_
2

S$11. Ans.(b)
Sol.
3A=6B=9C = 18 (say)

A B . C

ks E
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$12. Ans.(b)
Sol.
1 L

. TR 1
Ratio of initial investments = ST 6:4:3,
Let their initial investments be 6x, 4x and 3x respectively.

A:B:C=(6xx2+3xx10): (4xx12):(3xx12)=42:48:36=7:8:6.
- B's share = Rs [3?8>< i_):Rs. 144,
Z1

$13. Ans.(b)
Sol.
GIVEN RATIO

Selected Unselected
19 : 17

Acc' to Que®

36x—1200 _ 2

19x—800 1

36x - 1200 = 38x- 1600
2x =400

x=200

Total applicant = 36 = 200

=7200
ALTERNATE METHOD:-

400 800

Sl

400
= = —S=— 7}
(800 - 400) = 2 - 200
Total = 36 = 200

=7200

S$14. Ans. (b) TEST SERIES

Sol. English
Let their initial investments be x, 3% and 5x respectively. Then, Special Offer

A:B:C=(xx4+2xx8):(3xx4+=x8): (sxx4+Zx8)
=20x:24x:40x=5:6:10.

$15. Ans.(d) CIVIL

SSC JE

gol- Giveg, ) 10 Full Length Mocks
10 20 ?

b?=ac =400 =10XC Validity : 1 Month
C=40
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$16. Ans.(b)
Sol. Total amount=120/100[80*6.75 +120*8]=1800
Now, required value= 1800/200=9 Rs/kg

$17. Ans.(b)

Sol.
A+B: A-B B+C* B-C
11 @ 1 11 - 1

Add Add
Slimlarly

2a=12 : B=6,C=5
a==6
thenb =5
ratio of
A : B : C
a6 5

36 30 25

Hence B'ssalary= % = 182000
= 60000 Rs.

$18. Ans.(b)
Sol.

In 20 litres of cocktail mixture,

Aleohol = 22220 = 4 ljtres
100

Water = 20 - 4 = 16 litres

On adding 4 litres of water,

Quantity of water = 16 + 4 = 20 litres
Quantity of mixture = 24 litres

Required per cent

24 3 3

$19. Ans.(b)
Sol.
old New
Price — a8 : 11
Tickets — 23 : 21
184 231

IF 184 —36300
THEN 231 — 231 = 200
= 46200
Tes in revenue = [46200 - 36800]
=9400 Rs.
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$20. Ans.(a)
Sol.

GIVEN
Present age of father = 11x + 2y

ACCORDING TO QUESTION
1ix+2y _ 19
10x+2y 18
X 1

— 198x + 36y = 190x + 38y

v o4

RATIO of present age is
1lx+y _ 1144 _ 15

10xty 1044 14

$21. Ans.(b)

Sol.

Given eq®,

x*+2x+5=0

— comparing it with ax®* + bx+c=0
a=1,b=2,c=-15

= We know that,

$22. Ans.(b)
Sol.
&~

#12x2—2?x+2?+1_16 VA

SR PREMIUMPLUS -

=23+—m—— =— SUBSCRIBE @ PRACTICE » SUCCEED
4x2 —9x+9 5§

= 4%’ -9x+9=5

_ +1_9
x x 4
1 81
2

= 2 _—
SRR
= e s 1 7 6 Months Subscription
* x2 4

<>
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$23. Ans.(b)

Sol.
[x-2) is a factor of polynomial f{x) =x3+x2-5x+ 1
~f(2)=0

=283+22-5x2+1=0
=12-10+1=0

=2 T=-2
S24. Ans.(a)
Sol.

xx+1)+1=6[x+1)

= x-1)(EE+x+1)=(6x+6)(x-1)
=(x-1)=6x*-6

=x° - 6x*=-5

Required = 5x* (x - 6)° + 14

=5 (x*-6x7)*+14

= 125+14 =139

$25. Ans.(d)

Sol.

Always do these types of question with the helpof put.a=b=c=1
I(12+12+19)=(1+1+1)°

= 9 = 9 (satisfied)

= Sp, thisisanswer —a=b=c¢

$26. Ans.(a)

Sol.

LCM. = (x*+6x+8)(x+1)
=(x+1x+2)(x+4)

H.CF. = (x + 1)

First expression = x° + 3x + 2
=(x+1)(x+2)

ATQ,

[second expression) % (x + 1)(x + 2)
=(x+1)x+1)(x+ 2)(x + 4)
Second expression=(x + 1)(x + 4)
=x*4+5x+4

$27. Ans.(b)
Sol.
*+11x-5x-55=1

x+11)(x-5)=1
1

{x—5}=(x+1“
. _ 1
{x+ll]—16—r+11
11)———— =16
R A )
1
(x+11) + +11=\."'162+4=2*J'E
X
Required = (x + 11)° —ﬁ: 16 x 2\/65 = 321/65

7 | www.bankersadda.com | www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

$28. Ans.(a)

Sol.

Given

[H: _ bZ}E + [bz _ CZ]E + ECE _ 32:]3

Let,

(a®*-b¥) =4

(b*-c*) =B

(c*-a®)=C

Now,
A+B+C=a’-b*+b%-c*+c%-a’=0

We know,

A*+B*+C%- 3ABC
=%[;‘-‘L+B—C}{(A—B}2+ (B—-C)*+(C—Aa)%
=0

=

A*+B?+ C*=3ABC

AAR+ B CP =3 x(@2-bY) (bP-cF) (cf-ah)
Hence,

[a + b]) (a-b) is a factor

$29. Ans.(d)
Sol.

Given (x - 8) =_TL
x+£=8 then x—£=w¥"ﬁ
o

a0
1 — —
= x3 — — = 60V60 + 3V 60
x
=63/60
=x3-6360=—

a3

=x% (x*-63v60) =1

K =631/60

$30. Ans.(b)

Sol.

Given, (x+y) =5 TEST SERIES
= Take cube on both sides English
(x+y)? =125 Special Offer

=x3+y3+3xy(x+y) =125
= 35+ 3xy (5) = 125{~ x* + y? = 35}

= 15xy =90
s ELECTRICAL
x 'y xy 6 10 Full Length Mocks

Validity : 1 Month
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